

# A Refinement of Jensen's Discrete Inequality for Differentiable Convex Functions

This is the Published version of the following publication

Dragomir, Sever S and Scarmozzino, F. P (2002) A Refinement of Jensen's Discrete Inequality for Differentiable Convex Functions. RGMIA research report collection, 5 (4).

The publisher's official version can be found at

Note that access to this version may require subscription.

Downloaded from VU Research Repository https://vuir.vu.edu.au/17788/

## A REFINEMENT OF JENSEN'S DISCRETE INEQUALITY FOR DIFFERENTIABLE CONVEX FUNCTIONS

#### S.S. DRAGOMIR AND F.P. SCARMOZZINO

ABSTRACT. A refinement of Jensen's discrete inequality and applications for the celebrated Arithmetic Mean – Geometric Mean – Harmonc Mean inequality and Cauchy-Schwartz-Bunikowski inequality are pointed out.

#### 1. Introduction

The following inequality is well known in literature as Jensen's inequality:

$$(1.1) f\left(\frac{1}{P_n}\sum_{i=1}^n p_i x_i\right) \le \frac{1}{P_n}\sum_{i=1}^n p_i f\left(x_i\right),$$

provided  $f:[a,b]\to\mathbb{R}$  is a convex function on [a,b],  $x_i\in[a,b]$ , and  $p_i\geq 0$  with  $P_n:=\sum_{i=1}^n p_i>0$ .

Its central role in Analytic Inequality Theory is determined by the fact that many other fundamental results such as: the Arithmetic Mean – Geometric Mean – Harmonic Mean inequality, or the Hölder and Minkowski inequalities, or even the Ky Fan inequality may be obtained from Jensen's inequality by appropriate choices of the function f.

There is an extensive literature devoted to Jensen's inequality concerning different generalizations, refinements, counterparts and converse results, see, for example [1] - [21].

The main aim of this paper is to point out a new refinement of this classical result. Two applications in connection with the celebrated A - G - H-means inequality and the Cauchy-Buniakowski-Schwartz inequality are mentioned as well.

### 2. A Refinement of Jensen's Inequality

The following refinement of Jensen's inequality holds.

Date: May 24, 2002.

<sup>1991</sup> Mathematics Subject Classification. Primary 26D15; Secondary 26D10.

Key words and phrases. Jensen's Discrete Inequality, A-G-H means inequality, Cauchy-Schwartz-Bunikowski inequality.

**Theorem 1.** Let  $f:[a,b] \to \mathbb{R}$  be a differentiable convex function on (a,b) and  $x_i \in (a,b), p_i \ge 0$  with  $P_n := \sum_{i=1}^n p_i > 0$ . Then one has the inequality

$$(2.1) \quad \frac{1}{P_n} \sum_{i=1}^n p_i f(x_i) - f\left(\frac{1}{P_n} \sum_{i=1}^n p_i x_i\right) \\ \ge \left| \frac{1}{P_n} \sum_{i=1}^n p_i \left| f(x_i) - f\left(\frac{1}{P_n} \sum_{j=1}^n p_j x_j\right) \right| \\ - \left| f'\left(\frac{1}{P_n} \sum_{j=1}^n p_j x_j\right) \right| \cdot \frac{1}{P_n} \sum_{i=1}^n p_i \left| x_i - \frac{1}{P_n} \sum_{j=1}^n p_j x_j \right| \ge 0.$$

*Proof.* Since f is differentiable convex on (a,b), then for each  $x,y \in (a,b)$ , one has the inequality

(2.2) 
$$f(x) - f(y) \ge (x - y) f'(y)$$
.

Using the properties of the modulus, we have

$$(2.3) f(x) - f(y) - (x - y) f'(y) = |f(x) - f(y) - (x - y) f'(y)| \ge ||f(x) - f(y)| - |x - y| |f'(y)||$$

for each  $x,y\in(a,b)$ . If we choose  $y=\frac{1}{P_n}\sum_{j=1}^n p_jx_j$  and  $x=x_i,\ i\in\{1,\dots,n\}$ , then we have

$$(2.4) f(x_i) - f\left(\frac{1}{P_n} \sum_{j=1}^n p_j x_j\right) - \left(x_i - \frac{1}{P_n} \sum_{j=1}^n p_j x_j\right) f'\left(\frac{1}{P_n} \sum_{j=1}^n p_j x_j\right)$$

$$\geq \left\| f(x_i) - f\left(\frac{1}{P_n} \sum_{j=1}^n p_j x_j\right) \right\| - \left|x_i - \frac{1}{P_n} \sum_{j=1}^n p_j x_j\right| \left\| f'\left(\frac{1}{P_n} \sum_{j=1}^n p_j x_j\right) \right\|$$

for any  $i \in \{1, \ldots, n\}$ .

If we multiply (2.4) by  $p_i \ge 0$ , sum over i from 1 to n, and divide by  $P_n > 0$ , we deduce

$$\frac{1}{P_n} \sum_{i=1}^{n} p_i f(x_i) - f\left(\frac{1}{P_n} \sum_{j=1}^{n} p_j x_j\right) - \frac{1}{P_n} \sum_{i=1}^{n} p_i \left(x_i - \frac{1}{P_n} \sum_{j=1}^{n} p_j x_j\right) f'\left(\frac{1}{P_n} \sum_{j=1}^{n} p_j x_j\right)$$

$$\geq \frac{1}{P_{n}} \sum_{i=1}^{n} p_{i} \left\| f(x_{i}) - f\left(\frac{1}{P_{n}} \sum_{j=1}^{n} p_{j} x_{j}\right) \right\| - \left| x_{i} - \frac{1}{P_{n}} \sum_{j=1}^{n} p_{j} x_{j} \right| \left| f'\left(\frac{1}{P_{n}} \sum_{j=1}^{n} p_{j} x_{j}\right) \right|$$

$$\geq \left| \frac{1}{P_{n}} \sum_{i=1}^{n} p_{i} \left| f(x_{i}) - f\left(\frac{1}{P_{n}} \sum_{j=1}^{n} p_{j} x_{j}\right) \right|$$

$$- \frac{1}{P_{n}} \sum_{i=1}^{n} p_{i} \left| x_{i} - \frac{1}{P_{n}} \sum_{j=1}^{n} p_{j} x_{j} \right| \cdot \left| f'\left(\frac{1}{P_{n}} \sum_{j=1}^{n} p_{j} x_{j}\right) \right| .$$

Since

$$\frac{1}{P_n} \sum_{i=1}^n p_i \left( x_i - \frac{1}{P_n} \sum_{j=1}^n p_j x_j \right) = 0,$$

the inequality (2.1) is proved.

In particular, we have the following result for unweighted means.

Corollary 1. With the above assumptions for f and  $x_i$ , one has the inequality

$$(2.5) \quad \frac{f(x_1) + \dots + f(x_n)}{n} - f\left(\frac{x_1 + \dots + x_n}{n}\right)$$

$$\geq \left|\frac{1}{n}\sum_{i=1}^n \left|x_i - f\left(\frac{x_1 + \dots + x_n}{n}\right)\right| - \left|f'\left(\frac{x_1 + \dots + x_n}{n}\right)\right| \cdot \frac{1}{n}\sum_{i=1}^n \left|x_i - \frac{1}{n}\sum_{i=1}^n x_i\right| \geq 0.$$

**Remark 1.** Similar integral inequalities may be stated as well. We omit the details.

3. A Refinement of 
$$A_{\cdot} - G_{\cdot} - H_{\cdot}$$
 Inequality

For a positive *n*-tuple  $\bar{x}=(x_1,\ldots,x_n)$  and  $\bar{p}=(p_1,\ldots,p_n)$  with  $p_i\geq 0$  and  $\sum_{i=1}^n p_i=:P_n>0$ , define

$$A_n\left(\bar{p},\bar{x}\right) := \frac{1}{P_n} \sum_{i=1}^n p_i x_i \quad \text{(the weighted arithmetic mean)},$$
 
$$G_n\left(\bar{p},\bar{x}\right) := \left(\prod_{i=1}^n x_i^{p_i}\right)^{\frac{1}{P_n}} \quad \text{(the weighted geometric mean)},$$
 
$$H_n\left(\bar{p},\bar{x}\right) := \frac{P_n}{\sum_{i=1}^n \frac{p_i}{x_i}} = \left[A_n\left(\bar{p},\frac{1}{\bar{x}}\right)\right]^{-1} \quad \text{(the weighted harmonic mean)}.$$

The following inequality

$$(3.1) A_n(\bar{p}, \bar{x}) \ge G_n(\bar{p}, \bar{x}) \ge H_n(\bar{p}, \bar{x})$$

is well known in the literature as the Arithmetic Mean – Geometric Mean – Harmonic Mean (A-G-H)-means inequality.

Using Theorem 1, we may improve this result as follows.

**Proposition 1.** Suppose that  $\bar{x}$ ,  $\bar{p}$  are as above. Then we have the inequality

$$(3.2) \quad \frac{A_{n}\left(\bar{p},\bar{x}\right)}{G_{n}\left(\bar{p},\bar{x}\right)} \ge \exp\left[\left|A_{n}\left(\bar{p},\left|\ln\left(\frac{\bar{x}}{A_{n}\left(\bar{p},\bar{x}\right)}\right)\right|\right) - A_{n}\left(\bar{p},\left|\frac{x - A_{n}\left(\bar{p},\bar{x}\right)}{A_{n}\left(\bar{p},\bar{x}\right)}\right|\right)\right|\right] \ge 1,$$

where for a function h, we denote  $h(\bar{x}) := (h(x_1), \dots, h(x_n))$ .

*Proof.* Applying the inequality (2.1) for  $f(x) = -\ln x$ , we get

$$\ln\left[\frac{A_{n}\left(\bar{p},\bar{x}\right)}{G_{n}\left(\bar{p},\bar{x}\right)}\right]$$

$$\geq \left|\frac{1}{P_{n}}\sum_{i=1}^{n}p_{i}\left|\ln\left(\frac{x_{i}}{A_{n}\left(p,x\right)}\right)\right| - A_{n}^{-1}\left(p,x\right) \cdot \frac{1}{P_{n}}\sum_{i=1}^{n}p_{i}\left|x_{i} - A_{n}\left(p,x\right)\right|\right| \geq 0,$$

from where we get the desired inequality (3.2).

The following proposition also holds.

**Proposition 2.** Suppose that  $\bar{x}$ ,  $\bar{p}$  are as above. Then we have the inequality:

$$(3.3) \qquad \frac{G_{n}\left(\bar{p},\bar{x}\right)}{H_{n}\left(\bar{p},\bar{x}\right)}$$

$$\geq \exp\left[\left|A_{n}\left(\bar{p},\left|\ln\left(\frac{H_{n}\left(\bar{p},\bar{x}\right)}{\bar{x}}\right)\right|\right) - A_{n}\left(\bar{p},\left|\frac{H_{n}\left(\bar{p},\bar{x}\right) - \bar{x}}{\bar{x}}\right|\right)\right|\right] \geq 1,$$

*Proof.* Follows by Proposition 1 on choosing  $\frac{1}{\bar{x}}$  instead of  $\bar{x}$ .

#### 4. A Refinement of Cauchy-Buniakowski-Schwartz's Inequality

The following inequality is well known in the literature as the Cauchy-Buniakowski-Schwartz inequality:

(4.1) 
$$\sum_{i=1}^{n} a_i^2 \sum_{i=1}^{n} b_i^2 \ge \left(\sum_{i=1}^{n} a_i b_i\right)^2,$$

for any  $a_i, b_i \in \mathbb{R}$   $(i \in \{1, \ldots, n\})$ .

The following refinement of (4.1) holds.

**Proposition 3.** If  $a_i, b_i \in \mathbb{R}$ ,  $i \in \{1, ..., n\}$ , then one has the inequality;

$$(4.2) \sum_{i=1}^{n} a_i^2 \sum_{i=1}^{n} b_i^2 - \left(\sum_{i=1}^{n} a_i b_i\right)^2 \ge \frac{1}{\sum_{i=1}^{n} b_i^2} \left|\sum_{i=1}^{n} \left\| \frac{a_i^2}{\left(\sum_{j=1}^{n} a_j b_j\right)^2} \frac{b_i^2}{\left(\sum_{j=1}^{n} b_j^2\right)^2} \right\| - 2 \left|\sum_{k=1}^{n} a_k b_k\right| \cdot \sum_{i=1}^{n} |b_i| \left|\sum_{j=1}^{n} b_j \left|\frac{a_i \quad b_i}{a_j \quad b_j}\right|\right\| \ge 0.$$

*Proof.* If we apply Theorem 1 for  $f(x) = x^2$ , we get

$$(4.3) \quad \frac{1}{P_n} \sum_{i=1}^n p_i x_i^2 - \left( \frac{1}{P_n} \sum_{i=1}^n p_i x_i \right)^2 \ge \left| \frac{1}{P_n} \sum_{i=1}^n p_i \right| x_i^2 - \left( \frac{1}{P_n} \sum_{j=1}^n p_j x_j \right)^2 \right|$$

$$- 2 \left| \frac{1}{P_n} \sum_{k=1}^n p_k x_k \right| \cdot \frac{1}{P_n} \sum_{i=1}^n p_i \left| x_i - \frac{1}{P_n} \sum_{j=1}^n p_j x_j \right| \ge 0.$$

If in (4.3), we choose  $p_i = b_i^2$ ,  $x_i = \frac{a_i}{b_i}$ ,  $i \in \{1, \dots, n\}$ , we get

$$(4.4) \quad \frac{\sum_{i=1}^{n} a_{i}^{2}}{\sum_{i=1}^{n} b_{i}^{2}} - \frac{\left(\sum_{i=1}^{n} a_{i} b_{i}\right)^{2}}{\left(\sum_{i=1}^{n} b_{i}^{2}\right)^{2}} \ge \left| \frac{1}{\sum_{i=1}^{n} b_{i}^{2}} \sum_{i=1}^{n} b_{i}^{2} \cdot \left| \frac{a_{i}^{2}}{b_{i}^{2}} - \left(\frac{\sum_{j=1}^{n} a_{j} b_{j}}{\sum_{j=1}^{n} b_{j}^{2}}\right)^{2} \right| - 2\left| \frac{\sum_{k=1}^{n} a_{k} b_{k}}{\sum_{i=1}^{n} b_{i}^{2}} \right| \cdot \frac{\sum_{i=1}^{n} b_{i}^{2} \left| \frac{a_{i}}{b_{i}} - \sum_{j=1}^{n} a_{j} b_{j} / \sum_{j=1}^{n} b_{j}^{2} \right|}{\sum_{i=1}^{n} b_{i}^{2}} \right|,$$

which is clearly equivalent to (4.2).

#### References

- [1] E. F. BECKENBACH, An inequality of Jensen, Amer. Math. Monthly, 53 (1946). 501-505.
- [2] Z. CIESIELSKI, A note on some inequalities of Jensen's type, Ann. Polon. Math., 4 (1958) 269-274.
- [3] I. CSISZÁR, A note on Jensen's inequality, Studia Sci. Math. Hungar., 1 (1966) 185-188.
- [4] R.P. BOAS Jr., The Jensen-Steffensen inequality, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz., No. 302-319 (1970), 1–8.
- [5] P. LAH and M. RIBARIČ, Converse of Jensen's inequality for convex functions, Univ. Beograd Publ. Elektrotehn. Fak. Ser. Mat. Fiz., No. 412-460 (1973), 201-205.
- [6] P.M. VASIĆ and Ž. MIJAJLOVIĆ, On an index set function connected with Jensen inequality, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz., No. 544–576 (1976), 110-112.
- [7] J.E. PEČARIĆ, On the Jensen-Steffensen inequality, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz., No. 634-677 (1979), 101–107.
- [8] M.L. SLATER, A companion inequality to Jensen's inequality, J. Approx. Theory, 32(2) (1981), 160–166.
- [9] P.R. BEESACK, On inequalities complementary to Jensen's, Canad. J. Math., 35(2) (1983), 324–338.
- [10] D. ANDRICA and I. RAŞA, The Jensen inequality: refinements and applications, Anal. Numér. Théor. Approx., 14(2) (1985), 105–108.
- [11] J.E. PEČARIĆ and S.S. DRAGOMIR A refinement of Jensen inequality and applications, Studia Univ. Babes-Bolyai Math., 34(1) (1989), 15–19.
- [12] A.M. FINK and M. JODEIT, Jr., Jensen inequalities for functions with higher monotonicities, Aequationes Math., 40(1) (1990), 26–43.
- [13] S.S. DRAGOMIR, Some refinements of Jensen's inequality, J. Math. Anal. Appl., 168(2) (1992), 518–522.
- [14] S.S. DRAGOMIR, On some refinement of Jensen's inequality and applications, *Utilitas Math.*, 43 (1993), 235–243.
- [15] S.S. DRAGOMIR, A further improvement of Jensen's inequality, Tamkang J. Math., 25(1) (1994), 29–36.
- [16] S.S. DRAGOMIR, Two mappings associated with Jensen's inequality, Extracta Math., 8(2-3) (1993), 102–105.
- [17] S.S. DRAGOMIR, An improvement of Jensen's inequality, Bull. Math. Soc. Sci. Math. Roumanie (N.S.), 34(82)(4) (1990), 291–296.

- [18] S.S. DRAGOMIR and N.M. IONESCU, Some converse of Jensen's inequality and applications, Rev. Anal. Numér. Théor. Approx., 23(1) (1994), 71–78.
- [19] S.S. DRAGOMIR, J.E. PEČARIĆ and L.E. PERSSON, Properties of some functionals related to Jensen's inequality, Acta Math. Hungar., 70(1-2) (1996), 129–143.
- [20] S.S. DRAGOMIR, A new improvement of Jensen's inequality, Indian J. Pure Appl. Math., 26(10) (1995), 959–968.
- [21] S.S. DRAGOMIR, A sequence of mapping connected with Jensen's inequality, Riv. Mat. Pura Appl., 17 (1995), 9–18.

School of Communications and Informatics, Victoria University of Technology, PO Box 14428, MCMC 8001, Victoria, Australia.

 $E\text{-}mail\ address: \verb"sever@matilda.vu.edu.au"$ 

 $\mathit{URL}$ : http://rgmia.vu.edu.au/SSDragomirWeb.html